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Name: ___________________             Class: ___________ 

 

Subtraction word problems:  
Read and solve the subtraction problem. 
 

A classroom has 14 students. 6 students went to the library. 

How many students are still in the classroom? 

14 - 6 = ____ 

 

A flower shop had 12 lilies. 4 lilies were sold. How many lilies are 

still available? 

12 - 4 = ____ 

 

Harry had 16 balls. He gave 7 marbles to his brother. How many 

balls does Harry have now?  

16 - 7 = ____ 

 

A farmer had 10 cows. He sold 8 cows. How many cows does he 

have now? 

10 - 8 = ____ 
 


